(Ques1-4). Find out the correct answers:
Ques1. Coconut: Shell: Letter:?

a)    Mail

b)    Letterbox

c)    Stamp

d)    Envelop

Ans1. D)
Ques2. Much: Many:: Measure: ?

a)    Calculate

b)    Weight

c)    Count

d)    Measurement

Ans2. B)
Ques3. Ice: Coolness:: Earth: ?

a)    Forest

b)    Weight

c)    Ocean

d)    Gravitation

Ans3. D)
Ques4. Income: Profit :: Expenditure: ?

a)    Balance

b)    Sale

c)    Loss

d)    Surplus

Ans4. C)
Ques5. What J. B. Dunlop invented?

a)    Pneumatic rubber tire

b)    Automobile wheel rim

c)    Rubber boot

d)    Model airplanes

Ans5. A)

Ques6. It travels over land and water. Who invented the HOVERCRAFT?

a)    S. Sperrow

b)    O. Stricheg

c)    T. Henman

d)    Cockerell

Ans6. D)
Ques7. The man to who I sold my house was a cheat.

a)    to whom I sell

b)    to who I sell

c)    who was sold to

d)    to whom I sold

Ans7. D)
Ques8. The owner of a furniture shop charges his customer 18% more than the coast price. If a customer paid Rs. 10,207 for a dining table, then what was the original price of the dining table?

a)    Rs. 9,240

b)    Rs. 8,650

c)    Rs. 9,840

d)    Rs. 7,670

e)    None of these

Ans8. B)
Ques9. The product of two consecutive odd numbers is 2303. What is the greater number?

a)    45

b)    47

c)    51

d)    49

e)    None of these

Ans9. D)
Ques10. The cost of 2 watches and 2 lockets is Rs. 10,800. What is the cost of 6 watches and 3 lockets?

a)    Rs. 18,400

b)    Rs. 15,850

c)    Rs. 12,600

d)    Cannot be determined

e)    None of these

Ans10. E)
Ques11. Which amongst the following is NOT an insurance company functioning in India?

a)    ICICI Prudential

b)    ING Vysya

c)    ICICI Lombard

d)    New India Assurance Company Limited

e)    National Securities Depository Ltd.

Ans11. E)
Ques12.  Which of the following awards is given for excellence in the field of Sports?

a)    Gnanpith Award

b)    Bharat Ratna Award

c)    Arjuna Aaward

d)    Kalidas Samman

e)    None of these

Ans12. C)
Ques13. How many such pairs of letters are there in the word TRANSFER each of which has as many letters between them in the word as in the English alphabet?

a)    None

b)    One

c)    Two

d)    Three

e)    More than three

Ans13. D)
Ques14. In a certain code TRILOGY is written as HQSMXFN. How is CREDITS written in that code?

a)    DQBERSH

b)    FSDCTUJ

c)    DQBETUJ

d)    FSDCRSH

e)    None of these

Ans14. A)
Ques15. Which of the following types of companies/ organisations issue ULIP? (The ULIPS were recently in news)

a)    Insurance companies

b)    Banks

c)    NABARD

d)    RBI

e)    All of these

Ans15. A)
Ques16. Which one of the following is correct?

Player — Sport

a)    Jeev Milkha Singh —Tennis

b)    Jhulan Goswami —Cricket

c)    Baichung Bhutia —Hockey

d)    Pankaj Advani —Badminton

Ans16. B)
Ques17. Nilgiri, Himgiri and ‘Beas’ are—

a)    Aircraft Carrier ships

b)    Frigates

c)    Nuclear submarines

d)    Oil tankers of ONGC

Ans17. B)
Ques18. Which is the biggest enterprise of the Government of India?

a)    Postal and Telegraph

b)    Railways

c)    Banking

d)    Shipping

Ans18. B)
Ques19. In which type of competition does Marginal Revenue Curve coincide with Average Revenue Curve?

a)    Monopoly

b)    Imperfect Competition

c)    Perfect Competition

d)    Monopolistic Competition

Ans19. C)
Ques20. Balwant Rai Mehta Committee suggested that the structure of Panchayati Raj should consist of—

a)    The village, the block and the district levels

b)    The mandal and the district levels

c)    The village, the district and the State levels

d)    The village, the mandal, the district and the State levels

Ans20. A)
